
ASSEMBLY INSTRUCTION 
Decomposition of components Please check the number and quantity 

Please check the board number and quantity 

1 12 I 3 

47.24"x18.90" 1 Pc 18.90"x9.45" 3Pcs 

A B

｀
c

 

I
 

， 
M5*50 12Pcs M6*10 2Pcs M6*30 16Pcs 

D E F 

' 『 ｀
M6*35 2Pcs M6*45 4Pc�M6 14Pcs 

G H
I 

c;!) 尸
6Pcs 12+2Pcs 

4 三 5 7 

' 
1Pc �I 2Pcs 2Pcs 42.1" 

.
la

y
 

p
e
 

0
11
 

5̀
A
 

Thank you for purchasing Utopia Alley Products. Please contact us if you have difficulty with assembly or need 
replacement parts. Utopia Alley customer service is here to assist you. 
Email: CustomerService@utopiaalley.com 
Please attach your name and Order ID so that we can assist you better . 

This document is proprietary and confidential. No part of this document may be disclosed in any Item No.: SH73BK-IS 
manner to a third party without the prior written consent of Utopia Alley 














